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 Q1. Consider the following statements. 

1. Ordinance promulgated by President does not have sameeffect as an Act of 

Parliament till it is passed in Parliament. 

2. If a Court has struck down a decision taken by an authority on the ground of lack of 

statutory power, the legislature can later amend the law to confer the requisite 

power on such authority and validate the decision retrospectively. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

First statement is incorrect. It has same effect as Act of Parliament. 

 

 

Second statement is correct: 

Can the legislature overrule judgments? 

Before delving into the debate, some concepts need to be made clear. Legislative overriding 

of judgments is permissible in certain circumstances. The legislature can neutralize the 

effect of a judgment by altering the legal basis of the judgment (Madan Mohan Pathak vs. 

Union of India AIR 1978 SC 803). For example, if a Court has struck down a decision taken 

by an authority on the ground of lack of statutory power, the legislature can later amend 

the law to confer the requisite power on such authority and validate the decision 

retrospectively. 

Q2. In reference to India’s export to other countries, consider the following statements. 

1. United States remains the largest export destination for last two fiscal years. 

2. In 2022-23, export to Netherland is more than that of China. 
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3. India’s total export in 2022-23 shows a decline of more than 10 percent as compared 

to 2021-2022. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 1 and 3 only 

c. 1 only 

d. 2 and 3 only 

Solution: a 

Explanation: 

All information is taken from original source.  

Today I was surprised to see Netherland has replaced China. These facts you should know. 

Ten countries account for almost half of India’s total exports. The top export destinations 

for India include the United States, the United Arab Emirates, the Netherlands, China, 

Bangladesh, Singapore, the United Kingdom, Saudi Arabia, Germany, and Indonesia. Among 

them, the United States remains the largest export destination 

The Netherlands is increasingly becoming another important export destination. The share 

of the Netherlands in 2012-13 was 3.5%, which fell to 2.2% during 2020-21. It increased to 

4.8% in 2022-23, registering its highest share in the last decade. It jumped to 3rd position 

replacing China in 2022-23. 

 

 

 

 

 

Q3. Which of the following is/are characteristics of Graphene? 

1. It conducts electricity better than copper.  

2. It is almost perfectly transparent as it absorbs only 2% of light.  

3. It is impermeable to gases, even those as light as hydrogen and helium. 

4. Graphene has the potential to absorb and dissipate electromagnetic waves. 

Which of the above statements is/are correct? 

a. 1 and 3 only 
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b. 2, 3 and 4 only 

c. 1, 2 and 3 only 

d. 1, 2, 3 and 4 

Solution: d 

Explanation: 

This question is taken from the Hindu: 

 

Graphene is the world’s thinnest, strongest, and most conductive material of both 

electricity and heat. Other features: 

a. It conducts electricity better than copper.  

b. It is 200 times stronger than steel but six times lighter.  

c. It is almost perfectly transparent as it absorbs only 2% of light.  

d. It is impermeable to gases, even those as light as hydrogen and helium. It has the 

potential to revolutionize electricity, conductivity, energy generation, batteries, 

sensors and more.  

e. Also, when added to other materials, graphene even in small quantities produces 

composite materials with dramatically transformed qualities.  

Applications: 

a. Its exceptional strength makes it promising material for armour and ballistic 

protection.  

b. Graphene has the potential to absorb and dissipate electromagnetic waves, making it 

valuable for developing stealth coatings and materials that reduce radar signatures and 

electromagnetic interference.  

c. Graphene is highly sensitive to environmental changes, which makes it an excellent 

candidate for sensing chemical and biological agents, explosives, radiation, and other 

hazardous substances.  

d. Besides, graphene-based materials can also protect us against chemical and biological 

attacks. 

e. Better energy storage and electronics properties make graphene attractive in defence 

and aerospace as well as in civil and commercial applications. 

f. Graphene composites are used in aerospace, automotive, sports equipment and 

construction. 

g. It is used for high-performance batteries and super-capacitors, touchscreens, and 

conductive inks. Graphene-based sensors are used for environmental monitoring, 

healthcare and wearable devices.  
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h. Graphene oxide membranes are used for water purification and desalination. 

Graphene-based masks were made during COVID. 

Q4. Which of the following has recently rolled out its ‘2023-27 country partnership strategy 

for India’? 

a. Asian Development Bank 

b. SCO Secretariat 

c. IMF 

d. World Bank 

Solution: a 

Explanation: 

News: 

 

The Asian Development Bank (ADB) recently rolled out its 2023-27 country partnership 

strategy for India. This new strategy focuses on key areas to accelerate the country’s 

development and promote inclusive growth. 

This Country Partnership Strategy (CPS), 2023-2027 for India is well aligned with India’s 

national development priorities to be achieved by 2047, when the country marks 100 

years of independence. Economic and sector reforms and national flagship programs 

embody the national priorities. 

Q5. If interest rate in market decreases: 

1. price of bond increases 

2. return (yield) on that bond increases. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 
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Explanation: 

Suppose Rs. 100 bond (this is called issue price or Face Value) is issued @ interest rate 10% 

(which means that interest in the market is around 10%). Now if interest rate in the market 

decreases (the interest rate is decreasing in the market but the bond which has been issued 

@10% interest rate. This interest rate is fixed and it will never change) then the new bonds 

which will be issued will be issued at less interest rate (say 8%).  

Now if you want to purchase previously issued bond of Rs. 100 face value, the holder of the 

bond will not give you in Rs. 100, rather he will ask for more rupees, i.e., the price of the 

previously issued bond will increase and suppose you purchase this bond in Rs. 125 then for 

your annual RETURN will be = (Rs. 10/Rs. 125)*100 = 8%. This 8% is yield. 

So, to conclude, if interest rate in market decreases, price of bond increases and return 

(yield) on that bond decreases. 

Q6. Consider the following statements: 

1. Buddha did not believe in the existence of soul. 

2. The first human statues worshiped in India were those of the Buddha. 

3. He opened the gates of his sangha to both men and women. 

Which of the statements given above are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

Buddha was a rationalist, who tried to explain things in the light of reason and not on the 

basis of blind faith. In this sense, he was against any social distinctions. 

Also, he did not make a direct attack on the caste system, rather he threw open his order to 

all people of any caste. 

The first human statues worshiped in India were those of the Buddha. The devotees of the 

religion portrayed the various events in the life of Buddha in stone. 

When Buddha started Sangha, the Buddhists predominantly consisted of men. Women did 

not participate in the early beginnings of Sangha, therefore, many women wanted to join 

the Sangha and yearned for equality. However, they could not get easy access as there was 

no tradition of assimilation. But later it happened…Don’t get misguided by nay notes. 

Women were part of it. 

Example: In the Therigātha (The Songs of the Women Elders) 
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The Buddhist community comprised monks and nuns known as the Bhikkus and the 

Bhikunnis.  

Q7. Consider the following statements. 

1. The president has power to pardon the punishment or sentence of an individual by 

a Court Martial. 

2. If election of a President is declared void by Supreme Court, all acts of President 

before this decision of Supreme Court is declared as invalidated. 

Which of the above statements is correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

We will see here article 71 and 72. 
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Q8. Consider the following rivers. 

1. Chenab 

2. Jhelum 

3. Indus 

4. Satluj 

Which of the above rivers flow through newly formed Union Territory of Jammu and 

Kashmir? 

a. 1 and 4 only 

b. 1 and 2 only 

c. 1, 2 and 3 only 

d. 1, 2, 3 and 4 

Solution: b 

Explanation: 

Only Chenab and Jhelum pass through Jammu and Kashmir UT. 
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Satluj, you can see in above maps, flows below Ravi, so it far away from Jammu and 

Kashmir. Satluj river doesn’t cross Jammu and Kashmir. It enters India in Himachal 

Pradesh. 

Satluj rises from beyond Indian borders in the Southern slopes of the Kailash mountain near 

Mansarover lake from Rakas lake, as Longcchen Khabab river (in Tibet).  
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Q9. In the context Preamble of India, arrange the following in chronological order of their 

occurrence in Preamble. 

1. EQUALITY of status and of opportunity 

2. LIBERTY of thought, expression, belief, faith and worship 

3. FRATERNITY assuring the dignity of the individual and the unity and integrity of the 

Nation 

4. JUSTICE, social, economic and political 

Select the correct code. 

a. 4-1-2-3 

b. 1-4-2-3 

c. 2-1-4-3 

d. 4-2-1-3 

Solution: d 

Explanation: 

Start the test just to check if you know Preamble or not. 

 

Q10. Consider the following statements. 

1. Seagrasses convert organic carbon into large amounts of sugar during 

photosynthesis, mainly sucrose. 
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2. In India, Seagrasses are abundant in the Palk Strait and Gulf of Mannar in Tamil 

Nadu. 

3. Seagrasses reproduce through both sexual and asexual methods. 

Which of the above statement sis/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

First statement is correct. 

The research shows that seagrasses convert organic carbon into large amounts of sugar 

during photosynthesis, mainly sucrose. Globally, seagrasses have produced between 0.6 

and 1.3 million tonnes of these sugars. 

Like terrestrial plants, seagrass also photosynthesize and manufacture their own food and 

release oxygen. 

Third statement is correct. 

Seagrasses reproduce through both sexual and asexual methods. The pollen from the 

flower of the male plant is transferred to the ovary of the female flower through the sexual 

reproduction method. This is known as submarine pollination. Most species undergo this 

process and complete their life cycle underwater. 

Seagrasses can also reproduce asexually by branching off at their rhizomes (modified 

subterranean plant stem that sends out roots and shoots from its nodes). Because of this 

character, they can recover after being cut by grazers like dugongs or disturbed by storms. 

Second statement is correct. 

Seagrasses occur all along the coastal areas of India. They are abundant in the Palk Strait 

and Gulf of Mannar in Tamil Nadu. 

Though seagrasses inhabit all types of substratas (layers) from mud to rock, the lush green 

seagrass beds are found extensively in muddy and sandy substratas. 

Q11. Consider the following statements regarding Law Commission of India. 

1. Central Government established the First Law Commission in 1955. 

2. Since then, twenty-two Law Commissions have been appointed, each with a five-

year term. 

3. The Commission works on projects based on the references received from the 

Central Government or from the Supreme Court and High Courts. 

4. Enactments of The Right of Children to Free and Compulsory Education Act, 2009 

and National Green Tribunal Act,2010 were recommended by Law Commission. 
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Which of the above statements is/are correct? 

a. 1, 2 and 3 only 

b. 1 and 4 only 

c. 1, 3 and 4 only 

d. 1, 2, 3 and 4 

Solution: c 

Explanation: 

These are difficult statements, but yes, we have to prepare in this way only. I have to be 

tough. 

All statements are taken from Law Commission website. So without any doubt, learn all 

statements. 

Law Commission of India is a non-statutory body and is constituted by a notification of the 

Government of India, Ministry of Law & Justice, Department of Legal Affairs with a definite 

term of reference to carry out research in the field of law and the Commission makes 

recommendations to the Government (in the form of Reports) as per its terms of reference. 

The Central Government established the First Law Commission in 1955 with the then 

Attorney-General of India, Mr. M. C. Setalvad, as its chairman. Since then, twenty-two Law 

Commissions have been appointed, each with a three-year term and with a definite term of 

reference. 

 

Also remember, Law Commission of India submits final report to Central Government and 

its not binding. It was in news today. 

 

Q12. Consider the following statements. 

1. The Government of India provides Minimum Support Price for Sal seeds 

(Shorearobusta). 

2. Odisha has a rich depository of sal seeds accounting largest percent of the country’s 

production. 

3. The sal oil can be used for manufacture food and non-food industries. 

Which of the above statements is/are correct? 
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a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

It was in news: 

 

Odisha has a rich depository of sal seeds accounting for 25 per cent of the country’s 

production, which played a significant role in the economics of the tribal people in the state.  

Around 40 per cent of the total tribal populations here are engaged in collecting and 

processing the seeds to eke out a living. Other major sal seeds producing states include 

Bihar, Chhattisgarh, Madhya Pradesh, and Jharkhand. 

The sal oil can be used for manufacture food and non-food industries. The sal oil can be 

used as cooking oil and substitute for cocoa butter in chocolate industry after refining 

process. The sal seed and its oil are in underutilized stage because of its low price and lack 

of technology for its processing activities. 

 

Q13. National Mission for Mentoring aims to: 

a. to provide mentoring to school teachers and ensure their continuous professional 

development. 

b. creation of a large pool of outstanding professionals willing to provide mentoring to 

students who lacks development skills by providing infrastructure. 

c. To create pool of professional to provide science education. 

d. To help children at primary level to help in improvement of skills. 

Solution: a 

Explanation: 

News: 
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The National Mission for Mentoring (NMM), as envisaged in NEP 2020, is about the 

creation of a large pool of outstanding professionals willing to provide mentoring to 

school teachers and ensure their continuous professional development. 

National Education Policy (NEP) 2020 in Para 15.11 aims to flourish a knowledge system by 

establishing a large pool of outstanding professionals, who would be willing to provide 

short-and-long-term professional support to school teachers. Working towards the 

attainment of the goals set by NEP 2020, NCTE has been assigned to develop and design the 

modalities for National Mission for Mentoring (NMM). 

Q14. Consider the following statements. 

1. Though Kolleru Lake had been accorded the Ramsar site status, Pulicat Lake has not 

been considered for such status. 

2. Kolleru Lake is located between Andhra and Tamil Nadu while Pulicat is in Andhra 

Pradesh. 

3. Kolleru is brackish while Pulicat is fresh water lake. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 only 

d. 1 and 3 only 

Solution: c 

Explanation: 

100 percent UPSC question.  

Abhi don’t get scared. This is not a new question. Even if you know only about one lake, you 

can correct this. So, I can expect that you know at least Ramsar site details, i.e., Kolleru Lake. 

Though Kolleru Lake had been accorded the status in August 2002, Pulicat Lake has not 

been considered for such status. 

Kolleru Lake is the largest freshwater lake and is located in Andhra Pradesh. Kolleru is 

located between Krishna and Godavari delta. 

Pulicat Lake is the second largest brackish water lagoon in India (after Chilika Lake). 
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Q15. Ladakh shares boundary with: 

1. Pakistan 

2. Afghanistan 

3. China 

4. Turkmenistan 

Select the correct code. 

a. 1 and 2 only 

b. 1 and 3 only 

c. 1, 2 and 3 only 

d. 2, 3 and 4 only 

Solution: c 

Explanation: 

Ladakh shares boundary with Pakistan, China and Afghanistan. 
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Q16. Which of the following officer has the power to disqualify a Member of the Legislature 

for occupying an ‘Office of Profit’? 

a. The Chief Election Commissioner 

b. The President 

c. The Speaker of the Lok Sabha 

d. The Leader of the House concerned whose member is to be disqualified 

Solution: b 

Explanation: 

Article 102(1)(a) of the Constitution of India recognizes “holding any Office of Profit under 

the government” a ground for disqualification from being a Member of Parliament (MP) as 

well as contesting parliamentary elections to be chosen as an MP.  
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Q17. Which of the following aspects can lead to appreciation in the exchange rate of the 

Rupee? 

1. Increase in foreign tourists coming to India.  

2. Indian citizens investing abroad.  

3. A decrease in crude oil prices.  

4. Increase in exports by Indian pharmaceutical companies.  

Select the correct answer using the code given below:  

a. 1 and 2 only  

b. 1, 3 and 4 only  

c. 2 and 4 only  

d. 1 and 3 only  

Solution: b 

Explanation:  

Increase in foreign tourists coming to India would increase the demand for Rupee. This 

would lead to an appreciation in the rupee value. So, Statement (1) is correct.  

Indian citizens investing abroad would demand foreign currency in exchange for Rupee. 

This would lead to the price of the foreign currency increasing relative to the rupee, 

leading to a depreciation in the value of the rupee. So, Statement (2) is not correct.  

A decrease in crude oil prices would reduce the import bill of India as India imports about 

70 per cent of its crude requirements. This would reduce the demand for foreign currency, 

which in turn would lead to an increase in the value of the rupee. So, Statement (3) is 

correct.  
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Increase in exports by Indian pharmaceutical companies would bring foreign exchange in 

India. The price of foreign currency would reduce in terms of the rupee. This would lead to a 

depreciation in the value of the foreign currency and an appreciation in the value of the 

rupee. So, Statement (4) is correct.  

Therefore, the correct answer is (b). 

Q18. Which of the following provisions regarding Finance Commission is/are correct? 

1. The President shall lay down recommendation made by the Finance Commission 

before each House of Parliament. 

2. The Commission shall have all the powers of a civil court under the Code of Civil 

Procedure, 1908. 

3. Members of Finance Commission are eligible for reappointment. 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All statements are correct. 

First statement is a part of Indian Constitution.  

 

Third statement is correct. But it is part of below mentioned Act. Not Constitution. 

 

 

Second statement is correct. It is mentioned in Act, not Constitution. Remember this. 
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Q19. Consider the following 

1. X-Rays 

2. WIFI devices 

3. Microwaves and Radio waves 

Which of the above is/are sources of ionizing radiations? 

a. 1 and 2 only 

b. 3 only 

c. 1 only 

d. 1 and 3 only 

Solution: c 

Explanation: 

There are two types of radiations: 

a. Ionizing radiations 

b. Non-ionizing radiations 

These radiations have high penetration power and breaks into macro molecules in the body. 

Examples: X-Rays, Gamma rays, Atomic Plants, etc. 

Non-ionizing radiation is the term given to radiation in the part of the electromagnetic 

spectrum where there is insufficient energy to cause ionization.  

It includes electric and magnetic fields, radio waves, microwaves, infrared, ultraviolet, and 

visible radiation. WIFI devices, Telecom Towers will come under this. 
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Remember this also:  

Longer wavelength, lower frequency waves (heat and radio) have less energy than shorter 

wavelength, higher frequency waves (X and gamma rays). 

Q20. In the context of the location of industries, the supply of raw material is the most 

important factor for which of the following industries? 

a. Automobile Industry 

b. Electronic Goods Industry 

c. Sugar Industry 

d. Cotton Textile Industry 

Solution: c 

Explanation: 

Industries using weight-losing raw materials are located in the regions, where raw materials 

are located. Thus, sugar mills in India are located in sugarcane growing areas. Sugarcane 

needs to be supplied to mills within 24 hours of cutting to ensure better recovery of sugar. 

Hence, the location of Sugar mills is near the sugarcane producing areas. Similarly, the pulp 

industry, copper smelting and pig iron industries are located near their raw materials. 

Options (a) and (b) are examples of weight gaining industry, and they require more diverse 

ancillary material. Hence, these are generally located near the market. Cotton textile is not 

a weight losing industry. The raw material is not the most dominant factor, but a humid 

climate, cheap labour and transport and most importantly, a market for trade determine the 

location of the cotton textile industry. Therefore, the correct answer is (c). 
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Q21. Consider the following statements with respect to Asian Development Bank (ADB). 

1. India is a founding member of ADB. 

2. Equal voting rights for all members in ADB. 

3. All members of ASD are from within Asia and the Pacific region. 

4. ADB was established after 1973 global oil crisis. 

How many of the statements· given above are correct? 

a. Only 1 

b. Only 2 

c. Only 3 

d. None 

Solution: a 

Explanation: 

First see the origin of the bank: Fourth statement is incorrect. 

 

A major landmark was the establishment in 1974 of the Asian Development Fund to 

provide low-interest loans to ADB's poorest members. 

In 1995, ADB became the first multilateral organization to have a Board-approved 

governance policy to ensure that development assistance fully benefits the poor. Policies on 

involuntary resettlement and indigenous peoples were also put in place. 

Members 
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From 31 members at its establishment in 1966, ADB has grown to encompass 68 

members—of which 49 are from within Asia and the Pacific and 19 outside. Third 

statement is incorrect. 

India is a member since 1966. First statement is only correct. 

 

 Second statement is incorrect: 

 

Q22. Consider the following pairs. 

     Places in news       location 

1. Dodoma      Indonesia 

2. Helmand river    Longest river of Pakistan 

 

Which of the above pair is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 
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Explanation: 

Tanzania designated Dodoma as its new capital in place of the seaside city of Dar es Salaam. 

 

The Helmand River is the longest river in Afghanistan. 

 



QUIZ COMPILATIONS- JUNE PART 1 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 24 

 

Q23. New study discovers 62 desiccation-tolerant vascular plant species in India's Western 

Ghats. What is so specific about Desiccation-tolerant vascular (DT) plants? 

a. They can withstand extreme dehydration. 

b. They don’t need sunlight to grow. 

c. They are best suitable for corals growth and reproduction 

d. Thay contain sticky material which will be helpful in protecting from invasive species. 

Solution: a 

Explanation: 

News: 

 

India’s biodiversity hotspot, the Western Ghats, is home to 62 Desiccation-Tolerant Vascular 

Plant Species which could have applications in agriculture, particularly in areas with scarcity 

of water. 

Desiccation-tolerant vascular (DT) plants are able to withstand extreme dehydration, 

losing up to 95% of their water content, and they revive themselves once water is 

available again. 

This unique ability allows them to survive in harsh, arid environments that would be 

uninhabitable for most other plants. DT plants have been studied for their possible 

applications in agriculture, particularly in areas with limited water resources. In tropical 

regions, they are the predominant occupants of rock outcrops. 

Q24. Millet production is highest in: 

a. Maharashtra 

b. Rajasthan 

c. Tamil Nadu 

d. Karnataka 

Solution: b 

Explanation: 

I know sab sahikrenge. Everyone knows Rajasthan. But do have a glace to other states too.  

The image below of states has been taken from latest report of NITI Aayog on millets: 
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Latest data here: 
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Q25. Which of the following is/are the reasons for the increase in milk production and 

growth of dairy sector to agriculture after 1965? 

1. Operation Flood was launched in year 1970 to increase milk production in the 

country. 

2. very low share of export. 

3. growth of milk did not require endowments, like irrigation, good soil etc. 

4. increase in population of dairy animals. 

5. Low GHG emission by dairy animals 

Select the correct code. 

a. 1, 2 and 3 and 4 only 

b. 1, 3, 4 and 5 only 

c. 1, 3 and 4 only 

d. 1 and 3 only 

Solution: c 

Explanation: 

First statement is correct 
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Third statement is correct: 

 

Fourth statement is correct: 

 

First and fifth are incorrect: 

Doubling population of female bovine means GHG emission by dairy animals has doubled 

in the last 50 years. 

Share of export is very low. It has nothing to do with production. The success of dairy 

revolution in India is not translated into export. Dairy export constitutes only 2.6 per cent of 

India’s agri export reported by APEDA (crop plus livestock) which is much lower than 24% 

share of milk output in value of crop and livestock output. 

Q26. Which of the following is/are purpose for setting up of Ministry of Cooperation in 

Indian Government? 

1. Streamline processes for ease of doing businesses for co-operatives and enabling 

development of Multi-State Co-operative Societies. 

2. To implement the state's diplomatic principles and policies and related laws and 

regulations 

3. to meet the challenge of connecting every village with cooperatives 

Select the correct code. 

a. 1 and 2 only 

b. 1 only 

c. 1 and 3 only 

d. 3 only 

Solution: c 

Explanation: 
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Ministry of Cooperation was created by transferring the existing entries related to 

cooperation and cooperative in the business of the erstwhile Ministry of Agriculture, 

Cooperation and Farmers Welfare vide Cabinet Secretariat’s Gazette Notification dated 6th 

July, 2021. 

The Ministry is responsible for provide a separate administrative, legal and policy 

framework for strengthening the cooperative movement in country.  

Its aims to deepen co-operatives as a true people-based movement reaching up to the 

grassroots and develop a cooperative based economic model where each member works 

with a spirit to responsibility.  

The principal activities of the Ministry include streamlining processes for ‘Ease of doing 

business’ for co-operatives and enabling development of Multi-State Co-operative 

Societies.  

It lays emphasis on strengthening, bringing transparency, modernization, computerization, 

creating competitive cooperatives, working constantly to meet the challenge of 

accessibility to development for every underprivileged in rural areas and on connecting 

every village with cooperatives, making every village prosperous with the mantra of 

“Sahakar se Samriddhi” and through this making the country prosperous. 

Second statement: Ministry of External Affairs. 

Q27. Consider the following Nations. 

1. Turkmenistan 

2. Syria 

3. Pakistan 

4. Afghanistan 

Which of the above nations share boundaries with Iran? 

a. 2 and 3 only 

b. 1, 2 and 4 only 

c. 1, 3 and 4 only 

d. 4 only 

Solution: c 

Explanation: 

There are seven countries that Iran shares this long land border with. These countries are 

Iraq, Turkmenistan, Afghanistan, Pakistan, Turkey, Armenia, and Azerbaijan. Of these 

countries, Turkmenistan shares the longest border with Iran. 
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Q28. Which principle among the following was added to the Directive Principles of State 

Policy by the 42nd Amendment to the Constitution? 

a. Equal pay for equal work for both men and women 

b. Participation of workers in the management of industries 

c. Right to work, education and public assistance 

d. Securing living wage and human conditions of work to workers 

Solution: B 

Examination: 

2017 UPSC PRELIMS QUESTION. 

The 42nd Amendment added new Directive Principles, viz Article 39A, Article 43A and 

Article 48A. 

Article 43A deals with ‘Participation of workers in management of industries’. 
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Q29. Consider the following statements. 

1. Speaker, who is not a member of House, can preside the house of 6 months after 

which she ceases to be Speaker of House. 

2. A minister who is not a member of House, for 6 months, he can participate and vote 

in Parliament.  

3. A Minister who for any period of six consecutive months is not a member of the 

Legislature of the State shall at the expiration of that period cease to be a Minister. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: d 

Explanation: 

First Statement is incorrect. It is mandatory to be member of House. 
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Second statement is incorrect: He cannot vote. 

 

Two conditions exist for any minister. 
 
1. He is a serving MP of any house, Lok Sabha or Rajya Sabha. 
 
2. He is not a member of house although he has been appointed as a minister. 
 
In both cases, the minister takes part in the proceedings of both houses. It's his right as a 
member of the council of ministers. 
 
Now coming to the voting part. In above two cases, 
In first case, the minister is allowed to vote in the house whose membership he holds. If 
he's a member of Lok Sabha, he cannot vote in Rajya Sabha but in Lok Sabha only. That's 
his right as a member of the respective house. His ministership doesn't bar him from 
voting. 
 
In second case, as he is not a member of any house. He cannot vote in either of the 
houses. The minister has been given a time period of 6 months to become member of any 
one house. After he attains membership, he will be treated as in first case mentioned 
above. 

 

Third statement is correct: long statement but simple. It takes time to read. So you need 

to increase speed but don’t lose focus. 

 



QUIZ COMPILATIONS- JUNE PART 1 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 32 

 

Q30. Consider the following statements: 

1. A high foreign exchange rate may decrease the export of a country. 

2. A Trade surplus in an economy may help to appreciate its currency. 

Which of the statements given above are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

Simple concepts.  

Statement 1 is incorrect. 

A rise in price of foreign exchange will reduce the foreigner’s cost (in terms of USD) while 

purchasing products from a country. This increases the export of country.  

Suppose exchange rate is 1 dollar = 60 Rs and now it increased to 1 dollar= 70 Rs. For 

foreigners, Indian goods will become cheaper and export of Indian goods will increase.  

Statement 2 is correct. 

A Trade surplus means that the export of a country is greater than its imports. The export of 

a country helps in bringing foreign currency. So surplus trade will bring more foreign 

currency. As a result of which the domestic currency will appreciate. 

Q31. Which of the following states does not have their own High Court, i.e., under the jurisdiction of 

other High Courts? 

1. Manipur 

2. Tripura 

3. Meghalaya 

4. Mizoram 

5. Nagaland 

Select the correct code. 

a. 2, 3 and 4 only 

b. 4 and 5 only 

c. 1, 4 and 5 only 

d. 1, 3 and 4 only 

Solution: B 

Explanation: 
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Arunachal Pradesh, Nagaland, and Mizoram are under the jurisdiction of Guwahati High Court.  

So, option 4 and 5 are incorrect. All other three have their own High Courts. 

Q32. Consider the following statements. 

1. Upanishads contain discussion about the process of cloud formation and seasonal cycle 

caused by the movement of earth around the sun. 

2. Kautilya’s work, Brihatsamhita provides for scientific management of rainfall and its 

application. 

3. The term ‘cyclone’ was coined by Harry Piddington. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

Read the image:

 

Q33. Consider the following statements regarding KalakadMundanthurai Tiger Reserve (KMTR). 

1. It was declared as the ‘First Tiger Reserve of Tamil Nadu’. 

2. River Thamirabarani originates from KMTR. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 
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Q34. Which of the following sanctuaries are home to gharial population? 

1. Katraniaghat Wildlife Sanctuary in UP 

2. National Chambal Sanctuary in MP 

3. Satkosia Gorge Wildlife Sanctuary in Bihar 

Which of the following statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 2 only 

d. 2 only 

Solution: c 

Explanation: 

News: 
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Satkosia Gorge Wildlife Sanctuary in Odisha. 

Q35. Saudi Arabia have coastlines on three bodies of water. Which body of water being longest? 

a.  Persian Gulf 

b. Red Sea 

c. Arabian Sea 

d. Gulf of Aqaba 

Solution: b 

Explanation: 
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Q36. What factors affect the Indian summer monsoon? 

1. Indian Ocean Dipole 

2. Equatorial Indian Ocean Oscillation 

3. Atlantic sea surface temperature variability 

4. Mascarene High 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

The Indian Ocean Dipole or IOD is caused by alternate warming and cooling in the Indian Ocean 

along the Equator from west to east, much like the ENSO.  
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The Equatorial Indian Ocean Oscillation (EQUINOO) is thought to arise as an effect of the IOD and 

refers to increased and decreased cloud formation between the western and eastern equatorial 

Indian Ocean.  

Although the IOD was discovered only in 1999, and the EQUINOO in 2002, both have been 

recognised as important modulators of the Indian summer monsoon. Positive IOD and EQUINOO 

events are associated with more rainfall as these events increase moisture transport from the 

southeastern parts of the Indian Ocean. 

The Atlantic SST variability affects the Indian summer monsoon in the same way that the ENSO 

does. A warming of the surface of the Atlantic Ocean weakens the monsoon, just as cooling of the 

ocean’s surface has the opposite effect. The effects of this phenomenon, also known as the Atlantic 

Niño, on the Indian summer monsoon, is thought to be mediated through perturbations in the jet 

streams above India. 

The Mascarene High is a semi-permanent high-pressure zone in the south Indian Ocean, about 

4,000 km from India, near the Mascarene Islands. The Mascarene High begins developing in mid-

April and is a major factor in driving the circulation between the northern and southern hemispheres 

that powers the summer monsoon winds towards the Indian subcontinent from the Indian Ocean. 

 

Q37. Consider the following statements regarding  

1. The reports of the Comptroller and Auditor General of India relating to the accounts of the 

Indian states shall be submitted to the Governor. 
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2. As per the Constitution, CAG is also responsible for the audit and accounts of Panchayats 

and Municipalities. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

The reports of the Comptroller and Auditor General of India relating to the accounts of the Union 

shall be submitted to the President, who shall cause them to be laid before each House of 

Parliament. 

 

The Legislature of a State may, by law, make provisions with respect to the maintenance of 

accounts by the Panchayats and the auditing of such accounts. 

Q38. Which of the following is/are the agencies of United Nations? 

a. The International Fund for Agricultural Development, 

b. World Intellectual Property Organization 

c. International Monetary Fund 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

The UN specialized agencies are autonomous international organizations working with the United 

Nations. 
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Q39. With respect to India's foreign exchange reserves, consider the following statements. 

1. If other currencies in our Forex appreciates, our Forex will increase 

2. If Dollar appreciates with respect to other currencies, then our Forex will increase. 

Which of the above statements is/are correct? 
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a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Our FOREX reserve has several foreign currencies including US dollar. But our forex is expressed in 

terms of US dollars. So, now suppose we have in our forex one billion Pound also. and the Dollar 

Pound rate is:  $ 1 = pound 0.8. So, one billion pound will be $ 1.25 billion in our forex. Now suppose 

pound appreciates to $1 = pound 0.75. So, now the same one billion pound will be $ 1.33 billion in 

our forex. and RBI will say that our forex increased. But if dollar appreciates say, $ 1 = pound 1    So, 

now one billion pound will be just $ 1 billion in our Forex and RBI will say our Forex decreased.  

So, if other currencies in our Forex appreciates, our Forex will increase. 

and if Dollar appreciates with respect to other currencies, then our Forex will decrease. 

Q40. Who appoints the Acting Chief Justice for the High Courts? 

a. CJI in consultation with President 

b. CJI in consultation with Governor 

c. CJI in consultation with High Court Judge 

d. President  

Solution: d 

Explanation: 

News:

Also see article: 

 

at the export of a country is greater than its imports. The export of a country helps in 

bringing foreign currency. So surplus trade will bring more foreign currency. As a result of 

which the domestic currency will appreciate. 
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Q41. In essence, what does ‘Due Process of Law’ mean? 

a. The principle of natural justice 

b. The procedure established by law 

c. Fair application of law 

d. Equality before law 

Solution: a 

Explanation: 

“Natural Justice is a distillate of due process of law” – Justice Magarry, as quoted in Maneka Gandhi 

v/s Union of India, 1978 – the landmark case for due process of law in India. 

The confusion here is due to option ‘c’, but that can be discarded simply because it states 

“application”. ‘Due Process’ is not just about application of a law/procedure, but also the fairness of 

that law/procedure itself. “Fair application” would again make it ‘Procedure Established by Law’ by 

checking the fairness of executive action, but the ‘Due Process of Law’ is meant to check the fairness 

of the legislative action as well. 

Q42. Consider the following statements: 

Statement-I: In India, prisons are managed by State Governments with their own rules and 

regulations for the day-to-day administration of prisons. 

Statement-II: In India, prisons are governed by the Prisons Act, 1894 which expressly kept the 

subject of prisons in the control of Provincial Governments. 

Q43. Which one of the following is correct in respect of the above statements? 

a. Both Statement-I and Statement-II are correct and Statement-II is the correct explanation  

for Statement-I 

b. Both Statement-I and Statement-II are correct and Statement-II is not the correct 

explanation for Statement-I 

c. Statement-I is correct but Statement-II is incorrect 

d. Statement-I is incorrect but Statement-II is correct 

Solution: b 

Explanation: 

I think many of you here will mark it incorrect. 

Both statements are correct. However, prisons are managed by State Govts. not because of the said 

Act but because of the placement of the subject of prisons in the State List of Seventh\Schedule of 

the Constitution of India. 

Q43. Which one of the following statements best reflects the chief purpose of the `Constitution’ of a 

country? 

a. It determines the objective for the making of necessary laws. 

b. It enables the creation of political offices and a government. 

c. It defines and limits the powers of government. 

d. It secures social justice, social equality and social security. 

Solution: c 
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Q44. In India, which one of the following Constitutional Amendments was widely believed to be 

enacted to overcome the judicial interpretations of Fundamental Rights? 

a. 1st Amendment 

b. 42nd Amendment 

c. 44th Amendment 

d. 86th Amendment 

Solution: a 

Explanation: 

1st Amendment – The most popular contribution of this amendment was the Ninth Schedule and 

the associated Articles 31A and 31B. That was in the background of the agrarian reforms, especially 

the Zamindari abolition laws. It also expanded the scope of restrictions on fundamental rights (esp. 

freedom of speech and expression) in the background of various court judgments striking down 

various laws on public safety, press etc. Even the ‘Statement of Objects and Reasons of the First 

Amendment notes “difficulties brought to light by judicial decisions” in the opening sentence. The 

main objective was, and it is widely known for, overcoming judicial interpretations of FRs. 

 

Q45. Consider the following organizations/ bodies in India: 

1. The National Commission for Backward Classes 

2. The National Human Rights Commission 

3. The National Law Commission 

4. The National Consumer Disputes Redressal Commission 

How many of the above are constitutional bodies? 

a. Only one 

b. Only two 

c. Only three 

d. All four 

Solution: a 

Explanation: Only NCBC is a constitutional body. 

Q46. Consider the following statements: 

1. If the election of the President of India is declared void by the Supreme Court of India, all 

acts done by him/her in the performance of duties of his/her office of President before the 

date of decision become invalid. 

2. Elections for the post of the President of India can be postponed on the ground that some 

Legislative Assemblies have been dissolved and elections are yet to take place. 

3. When a Bill is presented to the President of India, the Constitution prescribes time limits 

within which he/she has to declare his/her assent. 
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How many of the above statements are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: d 

Explanation:  

Article 71(2), Article 71(4), Article 111 of the Constitution of India. 

 

 

 

Q47. With reference to Finance Bill and Money Bill in the Indian Parliament Money the following 

statements: 

1. When the Lok Sabha transmits the Finance Bill to the Rajya Sabha, it can amend or reject  

the Bill. 

2. When the Lok Sabha transmits Money Bill to the Rajya Sabha, it cannot amend or reject the 

Bill, it can only make recommendations. 

3. In the case of disagreement between the Lok Sabha and the Rajya Sabha, there is no joint 

sitting for Money Bill, but a joint sitting becomes necessary for the Finance Bill. 

How many of the above statements are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 
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Explanation:  

So, here finance bill should not be considered as money bill as UPSC has asked both bills separately. 

First statement is correct: 

The Rajya Sabha cannot amend or reject the money bill but it has the power to amend or reject the 

finance bill. 

Statement 2 is correct.  

 

Third is also incorrect: 

To resolve a deadlock, the President can summon a joint sitting of Lok Sabha and the Rajya Sabha in 

case if it is finance bill, however no such provision is made in case of a money bill. But the word 

“necessary” is a problem here.  

Q48. With reference to ‘Scheduled Areas’ in India, consider the following statements: 

1. Within a State, the notification of an area as Scheduled Area takes place through an Order of 

the President. 

2. The largest administrative unit forming the Scheduled Area is the district and the lowest is 

the cluster of villages in the Block. 

3. The Chief Ministers of concerned States are required to submit annual reports to the Union 

Home Ministry on the administration of Scheduled Areas in the States. 

How many of the above statements are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation:  

First and second are correct. 
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The Fifth Schedule under Article 244(1) of Constitution defines “Scheduled Areas” as such areas as 

the President may by order declare to be Scheduled Areas after consultation with the Governor of 

that State.  

The largest administrative unit forming the scheduled areas has been the district and the lowest the 

cluster of villages in the block. 

Third is incorrect. 

 

Q49. Consider the following statements: 

Statement-I: The Supreme Court of India has held in some judgments that the reservation policies 

made under Article 16(4) of the Constitution of India would be limited by Article 335 for 

maintenance of efficiency of administration. 

Statement-II: Article 335 of the Constitution of India defines the term ‘efficiency of administration’. 

Which one of the following is correct in respect of the above statements? 

a. Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for 

Statement-I 

b. Both Statement-I and Statement-II are correct and Statement-II is not the correct 

explanation for Statement-I 

c. Statement-I is correct but Statement-II is incorrect 

d. Statement-I is incorrect but Statement-II is correct 

Solution: c 

Explanation: 
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It is not defined. 

Q50. Consider the following statements: 

1. According to the Constitution of India, the Central Government has a duty to protect States 

from internal disturbances. 

2. The Constitution of India exempts the States from providing legal counsel to a person being 

held for preventive detention. 

3. According to the Prevention of Terrorism Act, 2002, confession of the accused before the 

police cannot be used as evidence. 

How many of the above statements are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation:  

Only statement 1 is correct. Article 355 of the Constitution of India. 

 

Statement 2 is incorrect. 

Statement three is incorrect. 
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Q51. In reference to Minimum Support Price (MSP) for Minor Forest Produce (MFP), consider the 

following statements. 

1. The Minimum Support Price will be recommended by Commission for Agriculture Cost and 

Prices (CACP). 

2. The funds to procure MFP, infrastructure and losses will be completely borne by Central 

Government.  

3. More than 50 Minor Forest Produce (MFP are under MSP coverage. 

How many of the above statements is/are correct? 

a. Only 1 

b. Only 2 

c. All three 

d. None. 

Solution: a 

Explanation: 

First and second statement is/are incorrect. 

Cabinet approved the scheme named “Mechanism for marketing of Minor Forest Produce (MFP) 

through Minimum Support Price (MSP) and development of value chain for MFP” vide order dated 

06.08.2013 for providing MSP to gatherers of forest produces and introducing value addition and 

marketing through tribal groups and clusters. 
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Third statement is correct. More than 50 are covered under this. 

Q52. Consider the following pairs. 

          Recent volcanic eruptions                 location 

1. Nyamuragira        Indonesia 

2. Popocatepetl         Mexico 

3. Mount Etna          Italy 

 

How many of the above pairs is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

Nyamulagira (also known as Nyamuragira) is a shield volcano in the Democratic Republic of the 

Congo. 

Mount Etna, or simply Etna, is an active stratovolcano on the east coast of Sicily, Italy. 

Popocatépetl is one of the most active volcanoes in Mexico. 

Q53. In reference to certification of organic products in India, consider the following statements. 

1. To make the certification system accessible without the need for third-party certification 

agencies, National Programme for Organic Production (NPOP) was implemented. 

2. Participatory Guarantee System (PGS-India) for meeting the demand of domestic market is 

implemented underMinistry of Commerce and Industry. 

3. Food Safety Regulation has made it mandatory for organic products to be certified under NPOP 

or PGS for being sold in the domestic market under Jaivik Bharat logo. 

How many of the above pairs is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 
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In India, there are two systems that certify organic food products.  

a. One is the Participatory Guarantee System (PGS) which is implemented by the Ministry of 

Agriculture and Farmers Welfare, and  

b. The other one is the National Programme for Organic Production (NPOP) which is 

implemented by the Ministry of Commerce and Industry.  

Both systems are independent of each other and to make the certification system affordable and 

accessible without the need for third-party certification agencies, PGS-India was implemented. 

This is a farmer group-centric certification system for local and domestic markets. 

NPOP was launched during 2001 by the Government of India under Ministry of Commerce and 

Industry. The NPOP not only provides the institutional framework for accreditation of certification 

agencies and operationalization of certification programme through its accredited Certification 

Bodies (CBs) but also ensures that the system effectively works and is monitored on regular basis.  

Under PGS-India programme, Government is implementing Participatory Guarantee System of India 

(PGS-India) as a quality assurance initiative for certification of organic produce that is locally 

relevant, emphasizing the participation of stakeholders, including producers / farmers and 

consumers and operate outside the frame of third-party certification.  

In the operation of PGS-India, stakeholders (including farmers/ producers) are involved in decision 

making and essential decisions about the operation of the PGS-India certification itself by assessing, 

inspecting, and verifying the production practices of each other and collectively declare produce as 

organic. 

Only third is correct. 

Food Safety Regulation has made it mandatory for organic products to be certified under NPOP or 

PGS for being sold in the domestic market under Jaivik Bharat logo.  
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To ensure end-to-end traceability (as per the requirements of regulatory framework under Food 

Safety Standard (FSS) [Organic Foods] Regulation 2017, PGS-India programme also provides 

uninterrupted chain of custody, starting from producer groups till the products are processed and 

finally packed into retail packs. 

Q54. Consider the following statements regarding ‘formation water’. 

1. Formation water cannot be reused and recycled. 

2. Water that develops during the drilling process for oil and gas extraction is known as the 

formation water. 

3. It has a high viscosity and density. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: b 
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Explanation: 

Water that develops during the drilling process for oil and gas extraction is known as the 

formation water. 

It has a high viscosity and density.  

In actuality, the chemical characteristics vary depending on the crude extracted, although salts 

containing K+, Na+, Ca2+, Mg2+, Cl, SO42-, CO32-, and HCO3- are commonly found. 

Free oil, dispersed oil (tiny oil droplets), and emulsified oil are all types of oil and grease found in 

formation water.  

Underground injection to encourage new oil production, usage for irrigation, livestock or wildlife 

watering, and habitat are all part of the formation water treatment for reuse and recycling along 

with a variety of industrial applications (e.g., dust control, vehicle washing, power plant makeup 

water, and fire control). 

 

How to treat? 

COAGULATION AND FLOCCULATION 

They are two terms for the same thing. The first steps in water treatment are commonly coagulation 

and flocculation. Positively charged chemicals are added to the water. The negative charge of dirt 

and other dissolved particles in the water is neutralized by the positive charge of these substances. 

When this happens, the particles connect with the chemicals and create floc, which are bigger 

particles. 

Q55. Consider the following nations. 

1. Thailand 

2. Laos 

3. Cambodia 

4. Vietnam 
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Which of the above nations share boundaries with China? 

a. 1 and 2 only 

b. 2, 3 and 4 only 

c. 2 and 4 only 

d. 1, 3 and 4 only 

Solution: c 

Explanation: 

Thailand and Cambodia don’t share boundary with China. 

 

Q56. Consider the following statements regarding the Attorney General of India: 

1. He must be a person qualified to be appointed as a Judge of the High Court as well as the 

Supreme Court. 

2. In the performance of his duties, he has the right of audience take part and right to vote in 

all Courts. 

3. He receives salary as provided in second schedule of Indian Constitution. 

Which of the Statements given above is/are incorrect? 

a. 1 and 2 only             

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 
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Explanation: 

First Statement is incorrect. 

 

Second statement is incorrect. They are not entitled to vote. 

 

Third statement is incorrect: 

First of all, he doesn’t receive salary, he receives remuneration. Second is, no mention of Attorney 

General in Second Schedule. 

 

Q57. Consider the following statements regarding Comptroller and Auditor-General of India. 

1. CAG shall only be removed from office in like manner and on the like grounds as a Judge of 

the Supreme Court. 

2. The duties and Powers are CAG are mentioned in the Constitution.  

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 
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Article 148 states there shall be a Comptroller and Auditor-General of India who shall be appointed 

by the President by warrant under his hand and seal and shall only be removed from office in like 

manner and on the like grounds as a Judge of the Supreme Court. 

The Constitution has given authority to Parliament to frame power and duties of CAG. 

 

So, Parliament enacted  the comptroller and auditor general's (Duties, Powers and Conditions of 

Service) Amendment ACT, 1971.

 

Q58. Consider the following statements regarding Deputy Chairman of India. 

1. Deputy Speaker finds itself mentioned in the second schedule of Indian Constitution. 

2. There is no Constitutional provision to remove Deputy Speaker from the office. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Second statement is also wrong. As you can see below, there is a provision mentioned to remove 

Deputy Speaker. 

Removal of Deputy Chairman: 
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First statement is correct. 

 

Q59. Consider the following statements regarding Biomining. 

1. It is the process of using microorganisms (microbes) to extract metals of economic interest 

from rock ores or mine waste. 

2. The use of this technique is limited to metals which can be oxidized by the microbes.  

3. This technique is not suitable for metals like iron and copper, which are dissolved easily in 

water, for such minerals other techniques are used. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 1 and 3 only 

c. 1 only 

d. 2 and 3 only 

Solution: c 

Explanation: 

News is: 

Biomining is the process of using microorganisms (microbes) to extract metals of economic interest 

from rock ores or mine waste. Biomining techniques may also be used to clean up sites that have 

been polluted with metals. 
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Q60. Consider the following statements. 

1. The G20 is an international group initially founded in 1999 after the Asian financial crisis. 

2. G-7 was formed after G-20. 

3. All members of G-7 are part of G-20. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

Which of the above statement sis/are correct? 
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The G20 is an international group initially founded in 1999 after the Asian financial crisis as a 

forum for the finance ministers and central bank governors of 19 countries and the European Union. 

G-7 was formed in 1975. Second statement is correct. 

G-7 members: United States, the United Kingdom, Germany, Canada, Japan, France and Italy. 

G:20 members: Argentina, Australia, Brazil, Canada, China, France, Germany, India, Indonesia, 

Italy,Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, the United 

Kingdom, the United States, and the European Union. 

Q61. Consider the following countries of South America. 

1. Bolivia 

2. Ecuador 

3. Uruguay 

4. Paraguay 

  Which of the above countries doesn’t share boundaries with Ocean? 

a. 1 and 4 only 

b. 2 and 3 only 

c. 1, 3 and 4 only 

d. 1, 2 and 4 only 

Solution: a 

Explanation: 

Except Bolivia and Paraguay, all other countries share boundaries with Oceans. 
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Q62. Consider the following Seas. 

1. Aegean Sea 

2. Strait of Gibraltar 

3. Adriatic Sea 

Arrange the above from East to West. 

a. 3-2-1 

b. 1-2-3 

c. 1-3-2 

d. 2-1-3 

Solution: c 

Explanation: 

From now only, you start creating picture of these maps in your mind. So, many times these images 

will come in our Practice quiz but with different places. Gradually you will become expert. See map 

below. 

 

Q63. Consider the following nations. 

1. Tajikistan 

2. Turkmenistan 

3. Uzbekistan 

4. Kyrgyzstan 

Which of the following Central Asian countries has/have border with Afghanistan but not 

with China? 

a. 1, 2 and 3 only 

b. 2 and 3 only 

c. 1, 2 and 4 only 

d. 2, 3 and 4 only 
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Solution: b 

Explanations: 

Tajikistan shares boundary with Afghanistan as well as China. 

Kyrgyzstan shares boundary with China but not with Afghanistan 

 

Q64. If you travel from Himachal Pradesh to Andhra Pradesh, what is the minimum number 

of states you need to cross between two states? 

a. 1 

b. 2 

c. 3 

d. 4 

Solution: b 

Explanation:  

Please try to recall map before seeing explanations. Learn to draw map in mind. It will take 

time, but you have to practice. Its compulsory. 

One needs to cross two states between Himachal Pradesh and Andhra Pradesh. 

Himachal Pradesh- Uttar Pradesh-Chhattisgarh-Andhra Pradesh 
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Q65. Consider the following nations. 

1. Thailand 

2. Laos 

3. Cambodia 

4. Vietnam 

Which of the above nations share boundaries with China? 

a. 1 and 2 only 

b. 2, 3 and 4 only 

c. 2 and 4 only 

d. 1, 3 and 4 only 

Solution: c 

Explanation: 

Thailand and Cambodia don’t share boundary with China. 
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Q66. Consider the following South East Asian Countries Capitals. 

1. Bangkok (Thailand) 

2. Naypyidaw (Myanmar) 

3. Hanoi (Vietnam) 

4. Kuala Lumpur (Malaysia) 

Arrange the above places from North to South. 

a. 2-1-3-4 

b. 2-3-1-4 

c. 3-2-1-4 

d. 3-4-1-2 

Solution: c 

Explanation: 

Now let us see the map. These South East Asian countries are very much important for exam 

as these countries connects North -Eastern India (India’s Act East Policy). 
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Q67. Consider the following capitals. 

1. Gandhinagar 

2. Bhopal 

3. Agartala 

4. Aizawl 

Which of the above capitals lies above Tropic of Cancer? 

a. 1 and 3 only 

b. 3 and 4 only 

c. 1 and 2 only 

d. 3 only 

Solution: b 

Explanation: 

The above capitals belong to states through which Tropic of Cancer. So, first we will know 

through which states of India, Tropic of Cancer passes. 

Tropic of Cancer passes through: 
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Gujarat, Rajasthan, Madhya Pradesh, Chhattisgarh, Jharkhand, West Bengal, Tripura and 

Mizoram. 

Capitals of Rajasthan, Tripura and Mizoram lies above Tropic of cancer. 

 Let’s see map now. Please open you Atlas Map book, if you have it. 
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Q68. Consider the following seas. 

1. Aegean Sea 

2. Black Sea 

3. Adriatic Sea 

Arrange the above seas from East to West. 

a. 2-3-1 

b. 3-2-1 

c. 3-1-2 

d. 2-1-3 

Solution: d 

Explanation: 

Adriatic Sea was already asked in Prelims 2019.  

Correct order from West to East is: 

Adriatic- Aegean- Black 

See the map now. 

 

Q69. Consider the following Central American Countries. 

1. Costa Rica 

2. Nicaragua 

3. Panama 

4. Guatemala 

Arrange the above countries from West to East. 
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a. 2-1-3-4 

b. 2-1-4-3 

c. 4-2-1-3 

d. 4-1-2-3 

Solution: c 

Explanation:  

The correct order of countries from West to East: 

Guatemala- Nicaragua- Costa Rica- Panama 

 

Q70. Kamchatka Peninsula divides: 

a. Sea of Okhotsk and Arctic Sea 

b. Arctic Ocean and Pacific Ocean 

c. Sea of Okhotsk and Bering sea 

d. Artic Sea and Siberian Sea 

Solution: c 

Explanation: 
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Q71. Consider the following statements. 

1. As per recent judgement, both married and unmarried women can seek an abortion beyond 

20 weeks under Medical Termination of Pregnancy (MTP) Act, 1971. 

2. As per the Hindu Succession Act, only daughter belonging to the nontribal is entitled to the 

equal share in the property of the father, it is not applicable for tribal community. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

The court held Rule 3B of the MTP Rules, which specifies the categories of women who can seek an 

abortion beyond 20 weeks, must be interpreted to include unmarried women as their exclusion 

would violate the right to equality. 
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Q72. SAMARTH scheme of Indian Government aims to: 

a. Capacity building in textile sector 

b. Improving livelihood of tribals by providing them education 

c. Proving employment opportunities for youth in J and K and LADAKH REGION 

d. Building infrastructure for MSME 

Solution: a 

Explanation: 

The Ministry of Textile has introduced a Scheme for Capacity Building in the Textile Sectors 

(SCBTS) which will be known as Samarth Scheme. 

The Government launched this scheme to transform the unskilled labour force into a skilled one and 

engage them in different sectors. These sectors include knitting, processing, garment and other 

unorganized sectors, including handloom, carpet, jute, silk and many others. 

Q73. Tropic of Cancer passes through: 

1. Garo and Khasi Hills 

2. Kachchh Peninsula 

3. Rohilkhand plains 
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4. Mizo Hills 

Select the correct code. 

a. 1, 2 and 3 only 

b. 1 and 2 only 

c. 2, 3 and 4 only 

d. 2 and 4 only 

Solution: d 

Explanation: 

 

Q74. Biological Diversity of Areas Beyond National Jurisdiction (BBNJ) is related to: 

a. protecting indigenous community and their habitats 

b. addressing illegal animal trades around globe 

c. protecting corals 

d. marine biodiversity in the deep seabed and high seas 

Solution: d 

Explanation: 

BBNJ treaty addresses marine biodiversity in the deep seabed and high seas, which are largely 

unregulated under existing treaties. The high seas comprise most of the ocean’s surface, serve as an 

important source of biodiversity, and supply a third of the world’s oxygen. 
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As rising sea temperatures, ocean acidification, marine pollution, and overfishing pose serious 

threats, stakeholders have described the BBNJ treaty as the UN’s “once in a lifetime” chance to 

protect marine biodiversity. 

Q75. With respect to Prevention of Money Laundering Act, consider the following statements. 

1. The anti-money laundering legislation was passed by the National Democratic Alliance 

government. 

2. The Act empowered the Enforcement Directorate (ED) to control money laundering, 

confiscate property, and punish offenders. 

3. Currently, cryptocurrency transactions in India is within the ambit of PMLA. 

Which of the above statements is/are correct? 

a. 2 only 

b. 1 and 2 only 

c. 2 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

 

The gazette notification by the Ministry brings cryptocurrency transactions within the ambit of 

PMLA. This means that Indian crypto exchanges will have to report any suspicious activity related to 

buying or selling of cryptocurrency to the Financial Intelligence Unit – India (FIU-IND). 

Q76. With respect to the appointment of Enforcement Directorate (ED), consider the following 

statements. 

1. The Centre appoints the director of ED on recommendation of a committee chaired by 

Union Home Minister. 

2. The committee to appoint ED consists members form Judiciary and Leader of opposition.  

3. no person below the rank of Additional Secretary to the Government of India shall be 

eligible for appointed as Director of Enforcement. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 2 and 3 only 

c. 3 only 

d. 1 only 
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Solution: c 

Explanation: 

The ED director is appointed as per provisions of the Central Vigilance Commission Act, 2003. 

 

Q77. Consider the following statements. 

1. In case of depreciation of the Rupee, the borrower under the ECB benefits the most. 

2. Government borrowings under External Commercial Borrowings has consistently increased 

for last three years. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

Simple question just needs your attention. Don’t be in hurry. 

An external commercial borrowing (ECB) is an instrument used in India to facilitate Indian companies 

to raise money outside the country in foreign currency. The government of India permits Indian 

corporates to raise money via ECB for expansion of existing capacity as well as for fresh investments. 

It’s a commercial borrowing. Government has nothing to do with Commercial entity.Second 

statement is incorrect. No need to know anything more. 

Under ECB, Indian entities borrow in dollar and pay in dollar. Suppose an entity borrowed 100 

dollars at 1$ = 60. Now, as per the question, rupee depreciates.  
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Suppose rupee depreciates to 1$ = 70 Rs. Now, borrower has to give 7000 Rs instead of 6000 (when 

it borrowed at 1$- 60 Rs).  So, borrower doesn’t benefit when rupee depreciates. 

Q78. Consider the following statements regarding Finance Commission (Miscellaneous Provisions) 

Act, 1951. 

1. It provides for the qualification and disqualification of the Finance Commission. 

2. Along with composition of Finance Commission, it also provides for the term of office of the 

Finance Commission. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Judicial Enquiry Act, 1968 already a part of UPSC in 2019. So, this is important to know. 

 

As per the provisions (see above), we can see that Constitution only talks about Composition. The 

Qualifications of Finance Commission is provided by the law enacted by the Parliament, i.e., THE 

FINANCE COMMISSION (MISCELLANEOUS PROVISIONS) ACT, 1951.  It also provides for 

Disqualification.Therefore statement 1 is incorrect.  
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Second statement is incorrect:  

As it doesn’t provide Composition. It provides term of Office. 

 

Q79. Consider the following statements. 

1. Currently, there is no law in India to regulate the export trade in antiquities and art treasures 

and to prevent smuggling and fraudulent dealings in antiquities. 

2. India has ratified UNESCO 1970 Convention on the Means of Prohibiting and Preventing the 

Illicit Import, Export and Transfer of Ownership of Cultural Property. 

3. As per the Act, no person other than the Central Government can export any antiquity or art 

treasure. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: B 

Explanation: 

What do Indian laws say? 

Before Independence, an Antiquities (Export Control) Act had been passed in April 1947 to ensure 

that “no antiquity could be exported without license.” In 1958, The Ancient Monuments and 

Archaeological Sites and Remains Act was enacted. Then in 1971, Parliament saw an uproar over the 

theft of a bronze idol from Chamba and some important sandstone idols from other places. 

This, along with the UNESCO convention (mentioned below), prompted the government to enact 

The Antiquities and Art Treasures Act, 1972 (AATA), implemented from April 1, 1976. 
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The 1970 Convention on the Means of Prohibiting and Preventing the Illicit Import, Export and 

Transfer of Ownership of Cultural Property urges States Parties to take measures to prohibit and 

prevent the illicit trafficking of cultural property. It provides a common framework for the States 

Parties on the measures to be taken to prohibit and prevent the import, export and transfer of 

cultural property. 

 

 

The AATA states, “it shall not be lawful for any person, other than the Central Government or any 

authority or agency authorised by the Central Government in this behalf, to export any antiquity or 

art treasure… 

 

Q80. Consider the following statements regarding Panchayats. 

1. The Constitution has authorized a Panchayat to levy, collect and appropriate such taxes, 

duties, tolls and fees. 

2. The Hight Court has been authorized to look into the matter if disqualification of any 

member of Panchayat. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 
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First Statement is incorrect. 

It’s Not Constitution, State Legislature authorize it. 

 

Second Statement is incorrect. 

No role of any High Court. The authority will be as provided by State Legislature by Law. 

 

Q81. Which of the following is/are dimensions for assessment and scoring under National 

Institutional Ranking Framework (NIRF)? 

1. Teaching, Learning & Resources 

2. Research and Professional Practice 

3. Graduation Outcomes 

4. Outreach and Inclusivity 

How many of the above options is/are correct? 

a. Only one 

b. Only two 

c. Only three 

d. All four 

Solution: d 

Explanation: 

NIRF ranks institutes by their total score; it uses five indicators to determine this score: ‘Teaching, 

Learning & Resources’ (30% weightage); ‘Research and Professional Practice’ (30%); ‘Graduation 

Outcomes’ (20%); ‘Outreach and Inclusivity’ (10%); and e) ‘Perception’ (10%). 



QUIZ COMPILATIONS- JUNE PART 1 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 75 

 

 

Q82. Consider the following statements. 

1. Spiders can build webs in space.  

2. Spider can be both, carnivores, or herbivores. 

3. Spider venoms contains proteins and polypeptides that perform various functions including 

antimicrobial functions. 

How many of the above statement sis/are correct? 
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a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

First and third are correct. 

 

Spider venoms are known to contain proteins and polypeptides that perform various functions 

including antimicrobial, neurotoxic, analgesic, activities. 

Second is incorrect: 

Spiders are carnivores. One two exceptions cannot describe them herbivores.  

Q83. In reference to the MSP recommended by Commission for Agricultural Costs & Prices (CACP), 

consider the following statements. 

1. After receiving the recommendations from the CACP, the Ministry of Agriculture takes a final 

decision on the level of MSPs of different crops. 

2. CACP takes the vies of state governments before submitting final recommendations to 

central government. 

3. CACP is a statutory body formed under Agriculture Price Commission Act, 1962. 

How many of the above pairs is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: a 

Explanation: 

First and third are incorrect statements. 

We will go to CACP website and search for authentic information: 
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Commission for Agricultural Costs and Prices (CACP) is a decentralised agency of the Government of 

India. It was established in 1965 as the Agricultural Prices Commission, and was given its present 

name in 1985. 

It is an advisory body, not statutory, attached to the Ministry of Agriculture & Farmers Welfare, 

Government of India. 

Q84. Consider the following statements. 

1. The liability of the Railway Administration for death of passengers due to accidents is dealt 

by Indian Railways Act, 1989. 

2. As per the Act, the railways administration is liable to pay compensation for loss of life to rail 

passengers who become victims of terrorist acts, robberies, etc.  

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Section 124 of the Indian Railways Act, 1989deals with the extent of liability of the Railway 

Administration for death, injury, or damage of goods belonging to passengers due to accidents. 

According to the Act, if a railway accident occurs involving at least one train carrying passengers 

including a railway servant on duty, the railway administration is legally bound to pay a prescribed 

compensation for loss of lives, injuries, and damage to goods belonging to passengers in the 

accident. The accident may be due to collision, derailment, fire, or explosion, or due to road 

vehicles colliding with trains at level crossings, etc. 
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Since 1994, the Act has also made the railway administration liable to pay compensation for loss of 

life or injury to bonafide rail passengers, who become victims of untoward incidents such as terrorist 

acts, violent attacks, robberies, dacoity, rioting, shoot-out or arson by any persons in or on any train 

carrying passengers, waiting hall, cloakroom, reservation or booking office, platform, any place 

within the precincts of a railway station or the accidental falling of any passenger from a train 

carrying passengers. 

 

Q85. Consider the following pairs. 

           Regions in news         location 

1. Nova Kakhovka   Armenia 

2. Jakhau port  Kutch district, Gujarat 

 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 
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Explanation: 

 

 

Q86. As per the rules, who is the leader of Houses in Parliament? 

a. Ministry of Parliamentary Affairs. 

b. Leader of House is decided by Speaker, rules don’t specify any position 
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c. Person nominated by prime Minister 

d. Person elected by members in House. 

Solution: c 

Explanation: 

As per the Rules of House, see for both the Houses, 

Lok Sabha: 

 

Rajya Sabha: 

 

Q87. Consider the following. 

1. A bill introduced to alter the boundaries of the state. 

2. Introduction of Money Bills 

3. A bill introduced by States to impose restrictions on the goods imported from other states 

Which of the above Bills need prior sanctions/recommendations of the President before 

introduction into Parliament? 

a. 1 and 2 only 

b. 2 only 

c. 1 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All given Bills need prior sanctions/recommendations of the President. 

First option is correct. 
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Third option is correct. 

 

Second option is correct. Article 110 mentioned below is Money Bill. 

 

Q88. Who designates person as a terrorist under the Unlawful Activities (Prevention) Act? 

a. Committee chaired by judge of Supreme Court 

b. Ministry of Home Affairs 

c. Ministry of Finance 

d. Committee chaired by Prime Minister. 

Solution: b 

Explanation: 

Home Minister is the correct answer. No need for any explanation. 

Q89. Which of the following correctly defines Bioprospecting? 
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a. Use of modern technologies for in-situ and ex-situ conservation of wildlife 

b. process used to treat contaminated media, including water, soil and subsurface material, by 

altering environmental conditions to stimulate growth of microorganisms and degrade the 

target pollutants 

c. systematic and organized search for useful products derived from bioresources including 

plants, microorganisms, animals, etc., that can be developed further for commercialization 

and overall benefits of the society. 

d. Majorly used in Oceans, to develop an interlink between biotic and abiotic resources and 

develop a chain between them and use it as a criterion for protecting biodiversity 

Solution: c 

Explanation: 

 

Q90. Which of the following can potentially lead to a higher credit growth in the Indian  

banking sector? 

1. Reduction in the Capital Adequacy Ratio by the Reserve Bank of India (RBI). 

2. Cut in the Repo Rate by the RBI. 

3. Increase in interest rates offered by small savings schemes. 

4. Improvement in macroeconomic indicators of the economy. 

Select the correct answer using the code given below: 

a. 1, 2 and 4 only 

b. 2 and 4 only 

c. 1 and 3 only 

d. 1, 2, 3 and 4        

Solution: a 

Explanation: 

The term bank credit refers to the amount of credit available to a business or individual from a 

banking institution in the form of loans. Higher credit growth in the Indian banking sector means 

banks have higher deposits which they can lend.  

First statement is correct. 

Reduction in the Capital Adequacy Ratio by the Reserve Bank of India (RBI) - capital adequacy ratio 

(CAR) is a measurement of a bank's available capital expressed as a percentage of a bank's risk-

weighted credit exposures. So, its reduction will increase the capital available with the bank to lend 

thus it will increase the credit growth of the bank.  
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Second statement is correct: 

Cut in the Repo Rate by the RBI – decreased lending rate by RBI to banks will increase the borrowing 

of banks and in turn, increase the lending capacity of banks to the businesses (credit growth) 

Third statement is incorrect. 

Increase in interest rates offered by small savings schemes – It will attract public to withdraw their 

money from bank deposits to these small saving schemes because of relatively high interest rates. 

So, the credit growth of banks will decrease. 

Fourth statement is correct. 

Improvement in macroeconomic indicators of the economy- It will strengthen the overall economy 

and ultimately banking sector. For e.g., Increased GDP will increase the purchasing power of the 

public thus increase in deposits in bank. 

Q91. Consider the following statements regarding Hand-in-Hand (HIH) Initiative. 

1. The initiative led by FAO uses advanced geospatial modeling and analytics to accelerate the 

market-based transformation of agrifood systems 

2. The Initiative prioritizes countries and territories where poverty and hunger are highest or 

operational difficulties are greatest due to natural or man-made crises. 

3. India is a member of this initiative. 

How many of the above pairs is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 

Every single day, I go to all important websites to search for news, relevant topics for you people. So, 

as I searched for FAO website. In home page, I found this and I chose topic for Quiz: 

 

The Hand-in-Hand Initiative, launched in 2019, is a flagship of FAO and one of its core priority 

programme areas. 

The Hand-in-Hand (HIH) Initiative supports the implementation of nationally led, ambitious 

programmes to accelerate agrifood systems transformations by eradicating poverty (SDG1), ending 

hunger and malnutrition (SDG2), and reducing inequalities (SDG10).  
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It uses advanced geospatial modeling and analytics, as well as a robust partnership-building 

approach to accelerate the market-based transformation of agrifood systems. 

The Initiative prioritizes countries and territories where poverty and hunger are highest, national 

capacities are limited, or operational difficulties are greatest due to natural or man-made crises.  

As of January 2023, the Initiative supports 60 countries. India is not a part of it. 
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Q92. Consider the following pairs. 

   Lakes/rivers in news      location 

1. Wular Lake   Ramsar site and largest freshwater 
lake in India 

2. Chite Lui River    Manipur 

 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Wular lake everyone knows. The largest freshwater lake in India. 

 

Q93. As per "The Electricity Act 2003", any person/entity requires a 'license': 

1. to generate electricity 

2. to transmit electricity 

3. to distribute electricity 

How many of the above pairs is/are correct? 

a. Only one 

b. Only two 

c. All three 

d. None 

Solution: b 

Explanation: 



QUIZ COMPILATIONS- JUNE PART 1 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 86 

 

In India we do not require licence for generation of electricity. But for transmission, distribution, 

and trading, License is required. 

Q94. Which of the following space agency has undertaken an intriguing study to investigate the 

effects of microgravity on culinary methods like frying? 

a. European Space Agency 

b. NASA 

c. China Space Agency 

d. North Kore Space Agency 

Solution: a 

Explanation: 

The European Space Agency (ESA) has undertaken an intriguing study to investigate the effects of 

microgravity on culinary methods like frying. 
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Q95. Consider the following statements regarding Indian Coast Guard. 

1. It is a statutory body under Ministry of Home Affairs. 

2. The preservation and protection of marine environment and control of marine pollution is 

the function of the Indian Coast Guard. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

We did not make question tough, but you will read below Paragraph. 
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The Indian Coast Guard was formally established on 18 August 1978 by the Coast Guard Act, 1978 of 

the Parliament of India as an independent Armed force of India. 

It operates under the Ministry of Defence. 

 

Q96. Consider the following statements regarding Lignite coal deposits in India. 

1. The carbon content of lignite is low compared to Anthracite and Bituminous. 

2. More than 50 percent of the lignite deposits is in Tamil Nadu. 

3. Only Lignite coal is found in India, all other varieties are imported. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 2 only 

d. 1 only 



QUIZ COMPILATIONS- JUNE PART 1 
 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 89 

 

Solution: a 

Explanation: 

First statement is correct and third is incorrect: Below information is form Ministry of coal website. 

Types of coal found in India 

Anthracite: It is the highest grade of coal containing a high percentage of fixed carbon. It is hard, 

brittle, black and lustrous. It is found in smaller quantity in regions of Jammu and Kashmir. 

Bituminous: It is a medium grade of coal having high heating capacity. It is the most commonly used 

type of coal for electricity generation in India. Most of bituminous coal is found in Jharkhand, 

Odisha, West Bengal, Chhattisgarh, and Madhya Pradesh. 

Subbituminous: It is black in colour, dull (not shiny) and has a higher heating value than lignite. 

Lignite: It is the lowest grade coal with the least carbon content. It is found in the regions of 

Rajasthan, Tamil Nadu, and Jammu & Kashmir. 

Second statement is correct. 

A report from Indian Bureau of Mines 2020: Authentic information. 

 

Q97. Payments Infrastructure Development Fund (PIDF) has been developed by: 

a. RBI 

b. SEPI 

c. Ministry of Finance 

d. NITI Aayog 

Solution: a 

Explanation: 

The Payments Infrastructure Development Fund (PIDF) Scheme was announced by the Reserve Bank 

on January 5, 2021. The objective of the scheme was to encourage deployment of Points of Sale 

(PoS) infrastructure (both physical and digital modes) in tier-3 to tier-6 centres and north eastern 

states. 

http://uttam.coalindia.in/about.html#:~:text=Bituminous%3A%20It%20is%20a%20medium,%2C%20Chhattisgarh%2C%20and%20Madhya%20Pradesh.
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Q98. Consider the following statements regarding Mahatma Gandhi National Rural Employment 

Guarantee Act, 2005. 

1. Under the Act, priority be given to women in such a way that at least one-third of the 

beneficiaries be women. 

2. Currently, wage rates are notified based on Consumer Price Index-Agricultural Labourers 

(CPI-AL) by the State Government. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

First statement is correct. 

 

Second statement is incorrect: 

A brief review of the history of how wages are determined is important. 

The employment guarantee act gives the central government two options for determining the 

MNREGA wage rate. The first is that MNREGA workers are paid the state minimum wage for 

agricultural labourers. The second is that the central government notifies separate wage rates for 

MNREGA. Till 2008, MNREGA wages were fixed as per the first option. From 1 January 2009, the 

central government switched to the second option. 

Now, wage rates for workers under the Mahatma Gandhi National Rural Employment Guarantee 

Act (MGNREGA), 2005 are notified and revised annually based on Consumer Price Index-

Agricultural Labourers (CPI-AL) by the Central Government in accordance with the provisions of 

Section 6(1) of the Mahatma Gandhi NREGA. 
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Q99. Consider the following countries. 

1. Eritrea 

2. Yemen 

3. Djibouti 

4. Somalia 

Which of the above countries share/s boundary with Red Sea? 

a. 2 only 

b. 3 and 4 only 

c. 1, 2 and 3 only 

d. 1 and 2 only 

Solution: c 

Explanation: 

There are six countries (Saudi Arabia, Yemen, Egypt, Sudan, Eritrea, and Djibouti) bordering the  

Red Sea. 
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Q100. What happens to human life after death” is a theme used in: 

a. Warli Paintings 

b. Madhubani Paintings. 

c. Paitkar Paintings 

d. Manjusha Paintings 

Solution: c 

Explanations:  

Practiced by the tribal people of Jharkhand, Paitkar paintings are considered one of the ancient 

paintings in the country. 

The common theme of this painting is “What happens to human life after death”. 

 


